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I. Ub,UNUUL NLACSE

1. Unyu wwhwisutpny uwhdwiymd tu utunudptpph b utinuyht dhowjuwyptiph
htn pthdwt hwdwp twuwntujwd” wnjhdtipuyht b wyp wmptphg  Wunpuunywd
wpmwnpuupht nt wniptpht tbpuyugynn wwhwugubipp (wyjunthtin” wwhwyutin):

2. Uutinudptpph U utunuyhu dhpwjuyptiph htn pthdwt hwdwp vwfuwnbuy wd
wnihdtpught b wy] Wniptnhg uunpuwunywos wpnwnpuupu n yoptpp kb wpunw-
utnnnud ntagh npuing htin 2tjnn dnptquyht monyputn b onuyhn dhgunjuyp dhgpughwh
pnyjunplih pwuwlubpp glipwquignn’ dwpynt wnnnonipjut hwdwp  Juwuquynp
puuwympmuutipny wnietp, htywbu twb dhugnipniuubp, npnup Jupnn Gu wnwywg-
ut] ninnigpwohy, dntnmwohu b htmwynp wgntigmpjuwu wy htmbwuputin:

3. Uwuhnwpwhwdwbwpwiuwjht  wwhwugutiph swyuwhywunuiu  untmonmd |
Juuwg' dwpnn Juyuph b wnnnonipjw hwdwp:

4. Unyu wywhwusutinp fhpwnynid tu utunudptpph htim othynn Gupwhuljynn
wynuwuputiph htmnlyuy fudptiph auunmdudp (pun USS UU dwdugnptiph) 3917-hg, 3920-hg,
3923-hg, 3924-hg, 4415-hg, 441600 000 0-hg, 4503-hg, 4819-hg, 6305-hg, 6911-hg, 691200-hg,

7010-hg, 7013-hg, 7310-hg, 7310 10 000 O-hg, 7323 92 000 0-hg, 7323 93-hg, 7323 94-hg, 7323
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99 990 0-hg, 7418-hg, 7612-hg, 7615-hg, 8418-hg, 8418 21-hg, 8418 30 200-hg, 9418 30 800-hg,
8418 40 200-hg, 8418 40 800-hg, 8422 40 000-hg, 8423-hg, 8434-hg, 8437-hg, 8438, 8509
40 000 O, 8516 50 000 O, 8516 60, 8516 60 10, 8516 60 101 O, 8516 60 109 O:
Uunjwuwgwuyp ubipuyugywd £ N 1 wnnuwynud:

5. Lum UU USSE UU dwolugntnh tupwhuljdwu wypwuputinh hwennpn fudptipp
(8418-hg, 8418 21, 8418 30 200, 8418 30 800, 8418 40 200, 8418 40 800, 8422 40 000-hg,
8423-hg, 8434-hg, 8437-hg, 8438, 8509 40 000 0, 8516 50 000 0O, 5416 60, 8516 60 10, 8516
60 101 0, 8516 109 0) jpugnighs guwhwwmymy Gu' pun Uliptuwghunipyut, uwppwphuni-
pjwu U EEyupunbjuuhuh wpunwnpuupht abpuywgynn yuwhwusutipnd  upqwo

$hqhljuljuit gnponuitiph swthwuhutmh:

1. CUUHYUSNRSNRLLENE BU AUNUJNRULEPR

6. Unyu wwhwugutinmd oguwgnpoynd tu httmbiyjuw hhtuwlwu hwulwugnipiniu-
ubipp b hwwywynufubtpp’

1) U phuhwwu wnptph dhgpughugh pnyjuwpth - putwlutpp g/,
Ug/mud).

2) Ufoloy Judtgm  opnd  phuhwlwu  Wwmphph  uvwhdwbuwhu  pnyjunpth
funnipyniup (dg/y).

3) Ufdlu,,,. puwljuyuyptph dpunnpuught onmu wnunwnhy wmptph dhohu
opwlwl vwhdwuwihu pnyjunplh unmpyniup - (Ug/d®).

4) WqUU” puwyuwywpbph dpunnpuuhu onnud wnunwhy wnmptph wqnpb-
gnipjuil Ynnuunpnohy wndunwiig dwjupnuyp (dg/d®).

5) wmhyuwhtt wdny pun dhwnbuwl wnbfuuninghwwuu gnpépupwgh, dhliunyu

Jhpwndwu npnpn b pwhwgnpddwt wuydwuutp (tpduunhtwuwhu nkdhd, thdwu
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dudwuwuhuwnywo) nmubtignn dhtiunyu wnmpbph oqumuwgnpddwdp Ut wpuwnpnnh
Unnuhg wuwnpuwuwmywo vdhuwnbuwl wpnwnpuuph wujwuwgwuyhg punpdws abp-
Jujugnmgsuuu uiny: Puquutipn b hwdwlgywd wynhdbpughtu wnietiph b npwg
hhdpny wwwnmpuunywd wpunmwnpuuph mhwywhu winy L utugudptpph hin wudhywwtiu
othynn otpwmh dhlunyu wnmpwlwu oSwgmd niutignn, Ukl wpuwnponnh Ynnuhg
yuwunpuunywd dhwnbuwl wpununpuuph wujuwuwguwuyjhg punmpjwo ubtipjujwugnig-

swlut udnyp (wuwju wy) 2tpunbtiph wnjuynipymuhg b punwnpnieniuhg):

. cvrcduvNhf N3 LEN

7. Lhihwjuwu wnpbph dhgpughwh pnyjunpih pwuwlubph dkonieniuutipp
(Ug/], Ug/mu) 15 mnlnup glipuquiignn funtunipjniu mutignn uiinwdptpph htin sthdw
hwdwp twjupunbiujwo  wpunmwnpwuph uwhnwpwphdhwljuu hmwgnunnipinivutinh
wuglugiwu dwdwiwly quwhwwdwu hhduwjwtu swthnpnphsutipn Gu: Uu phypnid
phuphwluiu wmpbtph dhgpughuyh dwiwpnuyp npnpynud T unntjuyhu dhgunjuyptph
(pnpwo 9nip, pRniubtph pny) Monypubtn U wyju) Yypw, npnup wdwwlind Gu vuunudptnph
tupwnpynn  mbuwuwim  hwnympymttbpp’ - wponwunpuiuph  ywhwgnpodwt  hpulwu
wuydwuutinp vwhdwunn stpdwumhtwuwdudwuwuyht gnpotqujupgtph wnjwynipyudp:

8. Ulunwuptpph b utunuyhu dhowyuwyptiph htin 2thdwu hwdwnp uvwfuwnbiuwo
Wnipbph nt wpmunpwuph htmwgnunnipjuu dudwuwy npuug qquynpndwu gniguw-
uhoutinp  hwdwwywunwujuwund Gu unyu wwhwusutiph NN 4 L 5 wnnuwyubpnid
utinuyugywd wwhwhoutinhu: Unntjuyht dhowuyptipnid unyuwluwuwgywd wnigtiph
putwjuliuwu yupniuwynipjniup swhwmp £ ghpuquugh npuug hwdwp vwhdwuywo

U'la-L-utiph dkdonipymuutipn:
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9. ludtm opmd phihwluu wnipbtnh uwhdwuwhu pnyjwnpblih junnpniuutph
dbdnipmuubipny whwp L ntujwnpyly dhwju wyu pbypnud, tpp unyuwuuwugywd
Wwnph hudwp sh vwhdwuyly (pugwuynud £) Uld~L-h dkidnipiniup:

10. 15 wnlnup yghipuquiugnn junuwynipyniu niutignn np ubunudptpph htn
othdwtu hwdwp twjuwnbiuwd wpmwnpuuph uwuhnwpwphdhuywu htmwgnunnipiniu-
utiph wugugdwu dudwuwl wpnwubtnytn phuphuyuu ymptpp npnpymd Gu onuyht
dpowjuypmd®  wipunwnpwuph whwgnpodwu  hpujuu  wwydwuubpt  wpunwugninn
stpduwumhtwuwdudwuwuwhu gnpotqujupgtnh wnjuwnipyudp: Unwugywo puuwlynt-
pIniuutipp qguwhwnymd b’ Gjuting UG ¢op.-hg (Ug/d®) U UUUU-hg (Ug/t®):

1. Auwuywpbph dpunnpuuiht onmd wnunwhy wnmptnh dhohu opwlwu
uwhdwbught ponyjunpbh unmpjuu dbompiniuutipn wju  suthnpnphsubtipi by, puwn
npnug whwp L guwhwwnty ntiyh on dhgpughwh vwhdwujws dwjupnuyn: “Lnyuw-
Juuwgqwd wniph hwdwp UfGtu-h dbdnipjuu puguuynipjuu nbhwpmd fjunphmpn L
npynud ntujunpyty puwwuyuwyptinh dpunnpunuyhu onmid wnunnunhy yynpbph wgnb-
gnipjuwu Ynndunpnyhy wuunuwiug dujupnuyh dkonipjudp:

12. Chghtithy unpdwwhdutinph htn hwdwwnbn  dwnuwbyuwe tu phdhwlu
wniptiph nuubtpp” onnmid b opnud npwug wwpnivwinpjuu phwpnud: Cun dwpnnt
opquithquh Ypw wgnbgnipjut wunhuuh' Juwuwlup ymptpp quuujupgymd G
GYnpwuhwjuwu nuntuwuu dhnipjut wunwd tpipnd pupmujwd puuujupgdwunp b
dwlupdwup  ubtpuywgynn  wwhwusubipht  hwdwwywwnuwujuwu b pwdwuymd  tu
Juwiqunpnipjwi 4 nuubtph’

1) 1-hu npuu’ swhwquug yunwugquynp uniphn.

2) 2-nn nuu puwn Junwuquynp uniphp.

3) 3-pnp puu swthwynp yunwuguwynp wniptp.
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4) 4-pn i phy Yunwuquiynp wmpbp:

13. (Fnyjunpynid £ uwfuunupngujuu (3 mwptjuuhg pwpap) b npupngujuu
wnwnphph btpbfuwubtph vuunh hudwp wwjuwnbuwo vuunwdptinph thwptpwynpndp
wnjhunhpnih  ogunwgnpodwdp:  Uwblulwu uuunh dJptpputph  thwpbpwuynpdu,
dwijuljuwu mbuwjwun wypwuputiph, wn pYymd’ uywuuph  wuunpuundw hwdwp
twfumnbtuwd wniptinph b wpunwnpuwuph quuhwnduwtu dwdwuwl Junwuquynpnipjuu
I-hu b 2-pn puuutiph phuhwwu wnpbph thgpughwu sh poyjumpynid:

14. Unyu ywhwusubinny utipuyugynid tu vuunudpbtpph htn othdwu hwdwn
twjummnbujwd wnipbnh (Wnhdtpuht, uhupbwhy, ynnuuumutinh, hwdwanywopubnh
b wyju) hhdvwuu wmtuwlutipp, vwuhnwpuwphdhwjwu httmugnunnipjmuutph wuglhwg-
dwt dudwiuwy huljnnnipjuu Gupwlu hhduwyuwu phihwuu wnipbpp, npnup punpn) tu
wpununpuuph jnipupwygnip mbuwfhu: Unpbtph wujunwugnpyuu hhghtiuhy gnigw-
uhoutinp U unpuwwmhyubipp ubpuyugywsd Gu unyu wwhwusutiph NN 2 b 3 wnnuwy-
utinnud: Uubnudptinph htin othdwiu hwdwp twjuwnbtiuqud wynipbtinh b wpnwnpuwuph
htmwgnunnipjuu dudwuwy qquynpnydwiun gmgwuhyutinpn b npwug hhghbuhl unpdw-

wmhyubinp uipuyugywo tu unyu yuwhwusutinh NN 4 U 5 wnyniuwutipnid:

cusuUSULh AULMUNGSNMF8UL
LUAUYLUMNRE8UL UChuUSUUURUD
asuldJdur-vdourunr T AUMNNe8NRLSUL
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U uhSUruduuux

Unjniuwl N 1
UhUUuLUUUUL 8UULY

U rauusrv C2UUNANRGFBUL (LENUCUUNANRGEUL)
GulcUul UNPURLE D

Uwnuwiph nuuwupgnp’ Uwnuwuph Ypdwwn wujwunidp
puwn USS UU swodljugph
funudp 39. Muuwmdwuuwutipn b wpnwnpuup npuughg

3917-hg Wuundwuuw  funnnyuyjutip, dwun funnnyuyjutp, thnnpuljutp, dquthnntip
b npuiug jgudwutp

3920-hg Uwhljutp, punuiup, duwywuybuutp, wy] wpunwnpuup yjuundwuuwihg, ny
owlnuybu, wnwug ptputiph b umjuwuwu tmuuwyny sdhugywo utpphu
ubiuptinh hwdwn wy) Wnietph htw, huywtu twh vwpunbtuyuo
uuunudpetnph htin sthdwn hwdwp, dwujulwu hwgniuwnh, Ynphlutinh b
fJuwnwihpubiph yuwpwuwndwu hwdwnp

3923-hg Muumdwuuwyhg wypwuputinh hwjuwgpdwu Jud hwpbpuynpduu
hwdwp wpnwnpwup (wpyntp, mnithtp, qudpmnubp b tdwwunhy
wpunwnpwup), npp bwjuwnbiujws £ utunudpbpph htn othdwt hwdwp

3924-hg Uwuup b yupwquutp dwyuubyyuwuyht b junhwunguyh, npnup
twuwntiugwd Gu ubunuwdptinph httn pthdwu hwdwp

funudp 44. Puymuwiynmpe b wpunwnpuup nppuuhg, huwynwontju
4415-hg Unpyntin b mnuhtp, hwptpuwynpnn yuunwlutn nt qudpymnutp,

wdwbwnhy wpunmunpwup thwymwuniehg, npp twjuwnbuywos L
uuunuptpnph thwptpwynpduu hudwp

4416 00 000 0-hg

Suljunubip, mwyunhlutp, swutip, pwuutp b mwjunwugnpdnpjwu wy
wpunwnpuup thuwymnwuniphg, npp twjuwntiujwd E uuunudptpph
thwptpwynpiwu hudwp

funudp 45. fugwu b wpnwnpwup npwihg

4503-hg

Upununpuwip ptwljuiu jugwihg, npp twjuwnbivjwsd L uuunudptinph htin
othdwu hwdwp

funuip 48. (Fnine b umywnpwpniye, Wpnmunpuwup phHEwW quugyudhg, pnehg jud unywnpwpnpehg

4805-hg (e vuunwdptpph thwpbpwynpdwu hwdwp, pnine b unjupupnne
qunn, npnup twjuunbiuywo Gu vuunupnymuuptpnipniumd oqunugnpotqm
hwdwp

4819-hg Upntip, wnithtp, wupltp, dpuputp b pnphg n unyupwpenphg

thwptipwynpnn wy] mwpw, npnup twjuunbiuywd tu vuunudpbtnph

thwptpwynpiwu hudwp

Funudp 63.

TMunpwuwmh dwuwdwgnpowjuiu wy] wpnwnpuiup, ognugnpdywd hugniunm b dwuiwdwgnpdwjwu

wpumnupuup

6305-hg

Pwptpwynpnn yupitp b hwetptbn, npnup twjuwntugus Eu
uuunudpetpnph htin sthdwu hwdwnp
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funudp 69. futigignponipjwu wpumwnpwup

6911-hg Uyuup dupwubyuyuyhu b funhwunguyhu
6912 00-hg
Tunuip 70. Uyuwyh b wpnwngpuup npuuhg

7010-hg Cotin, pohubip, upyuutip, Ymdtp, jmnuwnyhljubn, wunputpn, wuyulyw wy
wnwpnnmpniutbp” wppymuwpbpuuwt jud ninbuwut bywulympjui,
npnup twjuuntiuywd tu uuunudptnph ywhdwiy, thnjuwnpdwu jud
thwptipwynpdwiu hudwp

7013-hg Uyuup dupwubyyuljuyhu b junhwunguyhu

Funudp 73.

Upununpuwip ul dnwnutinhg, npp twjuwnbtiujws £ utunudptpph b judgnt oph htin pthdwu hwdwp

7310-hg
7310 10 000 O

Shuwmbinuutp, mwwunutp, spwdwutp, wpyntp b wdiwuwnhy
wnwpnnmpniutbp’ ul Ubnmwnhg pnpnp Wmpbph hwdwp (pugwnnipyudp
utmuywod Juud htmnijugywo qugh), 300 | mwpnnnipjniuhg ny wytih,
wpunwpht puwyundudp jud stpdudtmuugdwudp jud wnwug npug,
pwyg wnwg dafuwuhjuuu jud sbpdwumnbijuuhjuwi uvwppwynpmidubiph,
pugunmpjuip’ 50 | b wytih mwpnnmpyudp

7323 92 000 0-hg

Upununpuiip Gwpwutiuywluyh, funhwunguyhu Jud npuiig dwubipp’
Jhuguwnuyhu Yuphputph hudwp, ul Mbnwnutiphg, pniohg, Luwjwywwnywd

7323 93-hg Upununpuiip Gwywutiuywluyh, funhwunguyhu Yud npuiug dwubipp’
Yhugwnuyhu fuphputph hudwp, ub dbwnwnutinhg, duuiqujuyniu
wnnuunhg

7323 94- Ununwnnpuwip dwywubywluyht, funhwunguyht ud npuug dwubtpn'

hg [Urpulp awy J ) guyj fpuug np

Yhugwnuyhu fuphputph hudwp, ul dbnwnutinhg (pugunnipjudp pnish),
Fdwjuuyunywd

7323 99 990 0-hg

Upununpuiip Gwywutiuyywluyh, funhwunguyhu Yud npuiug dwubipp’
Yhugunuyhu uphputph hudwp, ub dbnwnutinhg, danunujuu
Juthwphsubip wywlpw mwupuyh hwdup

funudp 74. Mnhué b wpununpuup nputhg

7418-hg Utmwiuh uyuuph ywpwuquiubp' Yrugunuyht juphputiph hunfwp,
utyphnphg, wpnyphg, utyqhiptinhg” ppndh, uhltgh, nuljw, wpowpejw
owodlynypny
Tunuwip 76. Upnudhuhmd b wipnwnpuup npuhg
7612-hg Swithwhy vbnmwnuljuiu' Juph b juptwdpbpph hwdwp
Uz 7615 Upununpuiip Gwywutiuywluyhy, funhwunguyhu Yud npwiug dwubipp’
Yhugwnuhu fuphputph hudwp, wymuhuhnidhg
funudp 84.
(Frwunnputp dthonituyhy, Jupuwutp, vwppuwynpnudutin b dkjuwuhjuywu uvwupptip. nppwug duubpp
8418-hg Muwhwpwuubp, vwnuwpwuugh fugtp, vwungwlugtn
8418 21,
8418 30 200,
8418 30 800,
8418 40 200,
8418 40 800
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8422 40 000-hg

Uwppwynpmidutipn thwpbpuynpdwt hwdwp (utpunjw) thwptpwynpduu
wniph otipdwyht vwppny wypwup hwpebpwynpnnp), npp twjuwwmtugws £
owpwph U oujuipguhmpuyhu wpnwnpnigniuutipmy, vwppwynpnidubip
wuwhwonyugywd mnuthtiph b 2otiph pugdwu b Ypluwyh thwljdwu hwdwp

8423-hg Uwppwynpmdubin vuunudpbpph Yonwopwpdwu hudwp

8434-hg Uwppwynpmuutip b uwppbp' Yenn, uwppwynpmidubp Juph dyuldut b
Jtpudwljdwu hudwp

8437-hg Uwppwynpmdutin wipunuguyht wpmnmugpnipjuu jud hwgwqghubph jud
snp (npwqghubiph Wwldwu hwdwp, pugunnipjudp gyuinumunbuwuljuu
dtpdwubipnid ogunugnpoynn umppwynpmudutiph

8438 Uwnppwynpmdutin vuunwdet , nuwty hpubtinh wpnniuwupbpujuu

ppwynp D ubinudptnph, piwjtghputiph wpnymiwpbpwuy

yuwnpwundwu Jud wpnunpnipgjuu hwdwp, ndjuy fudph wyp nbnnd
shhywnwywo, sutipunywd, pugunnpjudp jmnh wuswndwu hwdwp ud
JEunuwuwywu b ygunnn pniuvwjui Gwpwbinh jud jmintiph yunmpuundwu
hwdwp btwuwnbuywo vuppwdnpnudubiph

Funudp 85. Ejijunpujuiu diptuwutp b vwppuynpmdutin, npwug dwubipp, dwyuwgnnn b
auwyuwybtpupununpnn uwppbn, vwppbip htmntunmwnbuwy hu wunytiph b duyuwgpdu m

Ytpupunwnpdwu hwdwp, nppuug dwutipt nt wwpugquubpp

8509 40 000 0

Utunudptinp dwuptigunnutipn b dhputiputp, hmpwaquhsutipn dpgtiph jud
pwuownpbntuh hudwp

8516 50 000 0

Uhypnwjhpught yunwpuiuubip

8516 60 YLwnwpwlutp wy, LiEyupuuwihlutp, Lajupujupuwutn, gphiutn b
nnuwnbtipubin
8516 60 10 Ejaupwuwhfutip (npnup niutiu suypwhtin nphypnmd nmuwyujuyuwhwpwu b

Liaumpuunwpugunn mwppbpny owdjuuwy)

8516 60 101 0

Eyipumpuuughljubip' Yeugunuygh, unwughnuwn

8516 60 109 0

Uy byupuuwg hutp, hiwt jupuwutp b swojuuwgbp'
Litupuunwpwgunn mwppbpny bayunpuuughlubph hwdwp
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ULLHUU EErLeh <6S cPdn1 UrsuiruuvLhs uLusdni L3nk@etsrh ULUSULINRE3UL <hGhELhY
S8NhSULLTLENL Nk LALUUShULEME

Unyntuwly N 2

Upunwnpwuph Quljynn Ura-£, dq/|. £hu. Yduinwuquynpnipjut Ufdtu d-op uswuu Yduinwuquynpnipjut
wujwunidp gnigwuhaubpp wnipbkph nwup dpunnpunwjht dpunnpunwjht nwup
Ufatu onnud, g/ onnud, Ug/§*
fudbGnt
opnty,
dg/|
1 2 3 4 5 6 7 8
1.1. Mnjhdbpwihu ynyebip U wjwuwnmdwuuwubp npwug hpdpny
Mn(hkphtu (MEPE, Snpdwintihhn 0,100 -- 2 0,003 -- 2
MESB), wnihwpnuhibu, (tnpdunppdp
Erehiuh htiw wpnuwhibuh bpyuwé £ wnwitig
hwdwuwnhdtipubn, onh $ntuwyhti
wnlhpnunp|bu, wnnipywidnipyul)
wnlhhgnpnunptu, Unbtwnwnthpn - 0,200 4 0,010 -- 3
wnlholtdhuubph hhdpny Ephjwgbnwwn 0,100 -- 2 0,100 -- 4
hwiwligyws tynyetin Ctpuut 0,100 - 2 . . .
<bwyunwu 0,100 - 4
<bpubu - - - 0,085 --
<bwunbu - - - 0,065 --
Ugtinnu 0,100 - 3 0,350 --
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Uwhpuntip

dbiehy 0,200 - 2 0,500 - 3
wpnwh| 0,100 -- 4 0,300 -- 3
hanwnnwh 0,100 -- 4 0,600 -- 3
pnuRh| 0,500 -- 2 0,100 -- 3
hgnpnyeh| 0,500 -- 2 0,100 -- 4
1.2. Mnjhuwnhpnjwiht wjwuwnhlubp
1.2.1. Mnjhunhpny Uwnhpny 0,010 ‘ - ‘ 2 0,002 - 2
dtdwnynuwhu, Uwhpwnbp
hwnywdwlwyniu dtph 0,200 - 2 0,500 -
pnuRh| 0,500 -- 2 0,100 --
$npdwinthphn 0,100 -- 2 0,03 --
(tnpdunppdp
bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
pbkiugn| - 0,010 2 0,100 -- 2
wnn[nLng -- 0,500 4 0,600 - 3
Eehiptiugng - 0,010 4 0,020 -- 3
1.2.2.Uynpnupwiphth htwn uwnhnpng 0,010 -- 2 0,002 -- 2
unhpnih hwdwuwnihdbpubn wyppnupwphp 0,020 - 2 0,30 - 2
$npdwinthphn 0,100 -- 2 0,003 -- 2
(tnpdwippdp
bpdwé £ wnwig
onh pntiwyht
wnnipywdnipyuili)
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ptuquinthhn - 0,03 4 0,040 -- 3
1.2.3. ABC wwuwnhlutip uwnhnpng 0,010 -- 2 0,002 -- 2
wyppnupwphp 0,020 -- 2 0,30 -- 2
widw-vbtiphuwmppng - 0,100 3 0,040 -- 3
pbkiugn| - 0,010 2 0,100 -- 2
wnn[nLng -- 0,500 4 0,600 - 3
Eehiptiugng - 0,010 4 0,020 -- 3
ptuquinthhn - 0,003 4 0,040 -- 3
pupniubp 0,010 -- 2 0,002 -- 2
(hqndbiputiph
fuwnunipn)
1.2.4. Ubphdtinwyphjwwnh uwnhnpng 0,010 -- 2 0,002 -- 2
htwn uwnppnih dbphidbunwyppjwwn 0,250 -- 2 0,010 -- 3
hwdwwnhdbputip dbphiuwhp 0,200 -- 2 0,500 -- 3
Snpdwinbhhn 0,100 -- 2 0,003 -- 2
(tnpdunppdp
bpdwé £ wnwig
onh pntiwyht
wnynipywidnipiuibi)
1.2.5. Ubphpdtwwyphjwwnh uwnhnpng 0,010 - 2 0,02 -- 2
U wyphinupwnppih htin dbehdbwnwyppiwun 0,250 - 2 0,010 - 3
unhpnih hwdwwnihdbputp wyphnupwphg 0,020 - 2 0,030 -- 2
dbphiuwhp 0,200 - 2 0,500 -- 3
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Snpdwintihhn 0,100 - 2 0,003 -- 2
(tnpdunppdp
bpdwé b wnwig
onh pntiwyht
wnnipywdnipiuibi)
1.2.6. Wwubphiuwnhpnth uwnhnpng 0,010 - 2 0,02 -- 2
htwn unhpnih wipwdbiphunppny - 0,100 3 0,040 -- 3
hwdwwnhdbputip phuquinthpn -- 0,003 4 0,040 -- 3
wgbtitnndbunu -- 0,100 3 0,003 -- 3
1.2.7. Pnunwnhbup htwn unhpn| 0,010 - 2 0,02 -- 2
unhpnih hwdwwnhdbpubp pnunwnhbu - 0,050 4 1,000 -- 4
wgbtinwinthhn - 0,200 4 0,010 -- 3
wgbinnu 0,100 -- 3 0,350 -- 4
Uwhpuntip
dbiehy 0,200 - 2 0,500 - 3
pnunp| 0,500 -- 2 0,100 -- 3
pupniubp - 0,050 3 0,200 -- 3
(hqndbiputiph
fuwnunipn)
1.2.8.Pnthnipnuinywd uwnhnpng 0,010 - 2 0,02 -- 2
wnihuwnhpnjubin pbiugn| - 0,010 2 0,100 - 2
wnn[nLng -- 0,500 4 0,600 - 3
Erhipbugn| -- 0,010 4 0,020 - 3
Ynwinp (hgnwpnwhp - 0,100 3 0,014 -- 4
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ptiugny)

dbiphl uwhpwn 0,200 -- 2 0,500 -- 3
$npdwinthphn 0,100 -- 2 0,003 -- 2
(tnpdunppdp
bpdwé b wnwig
onh pntiwyht
wnynipywidnipiuibi)
1.3. Mnjhyhupipinphnuwhts wjwuwnhyutip
wgbtinwinthhn - 0,200 4 0,010 -- 3
wgbinnu 0,100 -- 3 0,350 -- 4
Uwhpuntip
dbeht 0,200 -- 2 0,500 -- 3
wpnwh| 0,100 -- 4 0,300 -- 3
hanwnnwh 0,100 -- 4 0,600 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
hgnpntwnp; 0,500 -- 2 0,100 -- 4
pbkiugn| - 0,010 2 0,100 -- 2
wnn[nLng -- 0,500 4 0,600 - 3
ghuy (zn) 1,000 -- 3 -- -- --
wuwg (Sn) -- 2,000 3 - - -
Bnpyopwnhpunwjwin 2,000 -- 3 0,020 -- --
Bnpypnunpbunwiwn sh pnywwnpynud
yhuh| pinpwywi 0,01 -- 2 0,01 -- 1
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1.3.4. Mnjhdbiputip yhuhjwugbunwwn - 0,200 0,150 -- 3
yhuhjwugbunwwnh b npw $npdwinthphn 0,100 -- 0,003 -- 2
woéwugjwiubiph (tnpdwphyp
(ynihyhupjwgbinwn bpdwé £ wnwig
wnpyhupjwiht uwhpun onh pntiuyght
Bpypnunhdwithiwnh htiwn wnynipywidnipiuibi)
Jhupjwgbunwwnp wgbnwinthhn -- 0,200 0,010 -- 3
nhuwbnpuhw) hpdpny hGpuwu 0,100 -- - - -
hGwwnwu 0,100 -- -- -- --
1.3.5. Mnjhwyphjwwnutp htipuwu 0,100 -- -- -- --
hGwwnwu 0,100 -- -- -- --
wyppnupwphp 0,020 -- 0,030 -- 2
dbphwyphjwwn - 0,020 0,010 -- 4
dbphdGunwyphjwwn 0,250 -- 0,010 -- 3
pninhjwyppwwn - 0,010 0,075 -- 2
1.3.6. $npdwinthphn 0,100 -- 0,003 -- 2
Mnhopgwuwuhwpuwuubp (tnpdwphyp
(upthynuutip) bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
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wgbtinwinthhn - 0,200 4 0,010 -- 3
dtung 0,050 - 4 0,003 - 2
Uwhpuntip
dbiehy 0,200 - 2 0,500 - 3
pnunp| 0,500 -- 2 0,100 -- 3
pbkiugn| - 0,010 2 0,100 -- 2
1.4. Mnjhwdhnubp
1.4.1. Mnlhwdhn-6 E-yuwpniwlunwd 0,500 -- 4 0,060 -- 3
(ynihywwpnwdhn, pbkiugn| -- 0,010 2 0,100 - 2
Yuwpnu) $tiun| 0,050 - 4 0,003 - 2
1.4.2. Mnjhwdhn-66 htipuwdbph|tpywdhu 0,010 -- 2 0,001 -- 2
(ynhhtipuw- dbihiuwhpun 0,200 -- 2 0,500 -- 3
dbphGuwnhwwdpr, pbugn| -- 0,010 2 0,100 -- 2
uby)nu)
1.4.3. Mnjphwdhn-610 htipuwdbph|Gpywdhu 0,010 -- 2 0,001 -- 2
(wnihhtipuw- dbphiuwhpn 0,200 - 2 0,500 - 3
dbiph|Guubpwghtuwdhn) nklgn| - 0,010 2 0,100 -

1.4.5 Mnjhnipbnwitiubn Eehibugihyng - 1,000 3 0,100 -- --
wgbtinwinthhn - 0,200 4 0,010 -- 3
$npdwinthphn 0,100 -- 2 0,003 --

(tnpdunppdp
bpdwé £ wnwig
onh pntiwyht
wnynipywidnipiuibi)
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Eehlwgbinwn 0,100 -- 2 0,100 --
pnunpjugbunwn - 0,100 4 0,100 --
wgbinnu 0,100 -- 3 0,350 --
Uwhpuntip
dbiehy 0,200 - 2 0,500 -
wpnwh| 0,100 -- 4 0,300 --
hanwnnwh 0,100 -- 4 0,600 --
pbkiugn| - 0,010 2 0,100 --
wnn[nLng -- 0,500 4 0,600 -
1.5. Mnjhtrebnubp

1.5.1. MinpkhGuopuphn $npdwnthhn 0,100 -- 2 0,003 --

(tnpduwnppdp

bpdwé £ wnwig
onh pntiwyht
wnnipywidnipyuili)

wgbtinwinthhn - 0,200 4 0,010 --
1.5.2. Mnjhypnwh|6u- dbiphjwgbinwn - 0,100 3 0,070 --
opuhry wgbitnu 0,100 - 3 0,350 -
$npdwinthphn 0,100 -- 2 0,003 --

(tnpduwnppdp

bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
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wgbtinwinthhn - 0,200 4 0,010 -- 3
1.5.3. Mnjhsnpudbieh|tu- wpnwhr uwyhpw 0,100 -- 4 0,300 -- 3
opuhn wgbnwnbhhn - 0,200 4 0,010 - 3
dbphiugbunwin - 0,100 3 0,070 -- 4
1.5.4. Mn|h$bLuh|tu-opuhn tiun| 0,050 -- 4 0,003 -- 2
$npdwinthphn 0,100 -- 2 0,003 -- 2

(tnpduwnppdp

bpdwé £ wnwig
onh pntiwyht
wnynipywdnipiuibi)
dbphiuwhpun 0,200 - 2 0,500 -

1.5.5. Mn|hkphGuwnbnt- wgbtinwnthhn - 0,200 4 0,010 -- 3
drnuwjun b Eehitiugihyny - 1,000 3 1,000 -- --
nbpbunwiwepyh hhdpny | tpdbehjnbptbunwiwn - 1,500 4 0,010 -- -
hwdwuwn|hdbpubp $npdwnthpn 0,100 -- 2 0,003 -- 2

(tnpduwnppdp

bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
Uwhpuntip

dbphiuwhpun 0,200 -- 2 0,500 -- 3
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pnunp| 0,500 -- 2 0,100 -- 3
hgnpnuwnp; 0,500 -- 2 0,100 -- 4
wgbinnu 0,100 -- 3 0,350 -- 4
1.5.6. Mnihlwppnuwwn dtung 0,050 -- 4 0,003 -- 2
dbphitupinphn - 7,500 3 -- -- --
pinppbugn; - 0,020 3 0,100 -- 3
1.5.7. Mnjhunydnu pbkiugn| - 0,010 2 0,100 -- 2
bung 0,050 -- 4 0,003 -- 2
1.5.8. Mn(h$Luh|Guunydbhn dtung 0,050 -- 4 0,003 -- 2
wgbtinwinthhn - 0,200 4 0,010 -- 3
dbphiuwhpun 0,200 -- 2 0,500 -- 3
GnYypinpptiugn| - 0,002 3 0,030 -- --
pnp (B) 0,500 - 2 - - -
1.6. Npwbu Ywwnn yjnip ogunwgnpddwu dwdwuwly
1.6.1 bung 0,050 -- 4 0,003 -- 2
$tunjwdnpdwnbhpnuwiphu $npdwnthpn 0,100 -- 2 0,003 -- 2
fubidtinh (tnpdunppdp
bpdwé £ wnwig
onh pntiwyht
wnynipywidnipiuibi)
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1.6.2 $npdwnthhn 0,100 -- 2 0,003 -- 2
uhihghnwopqwuwywu (tnpdwphyp
tutidtinh bpdwé b wnwig
onh pntiwyht
wnnipywdnipiuibi)
wgbtinwinthhn - 0,200 4 0,010 -- 3
bung 0,050 -- 4 0,003 -- 2
Uwhpuntip
dbphiuwhpun 0,200 -- 2 0,500 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
1.6.3 kwopuhnwyhu Fwhpinphhnpht 0,100 -- 2 0,200 - 2
futidtinh $tiun| 0,050 -- 4 0,003 -- 2
$npdwinthphn 0,100 - 2 0,003 - 2
(tnpdunppdp
bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
1.6.4. dnnpnwwunbp’ dwnp-hnu 0,500 -- 2 -- -- --
$unpnuwwuwn-3, $npdwnthhn 0,100 -- 2 0,003 -- 2
duinpnywuwn-4, ik nu (bnpdwiphyp
bpdwé £ wnwig
onh pntiwyht
wnpnyywdnyayuity)
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hGpuwu 0,100 -- -- -- --
hGwwnwu 0,100 -- -- -- --
1.6.5. Muwuwndwuubip $npdwinthphn 0,100 -- 0,003 -- 2
dtunjwinthhnwhu (tnpdunppdp
futdtiph hpdpny bpdwé b wnwig
(PbUnwwuwntin) onh $ntwyhti
wnynipywidnipiuibi)
wgbtinwinthhn - 0,200 0,010 --
bhuny 0,050 - 0,003 -
1.6.6. Mnjhpnpdwinbhhn $npdwinthphn 0,100 -- 0,003 --
(tnpduwnppdp
bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
wgbtinwinthhn - 0,200 0,010 -- 3
1.6.7. Udhuwwwuwnbp $npdwnthhn 0,100 -- 0,003 -- 2
(quiuquwdubip Jwdjws U(Un/gfwmhllnu
Yunpwdhnu- L guud | wnuitig
onh pntiwyht
dGwdhuwdnpdwinb- wipnyuwénypuit)
hhnuwyht)
1.6.8. Mn|hdbipwht Ewhpinphhnphu 0,100 - 0,200 -
ujnebp Ewopuhnwjhu $tiun| 0,050 -- 0,003 --
fubidtinh hhupny
1.6.9. hnuwswih tubdtp, $npdwnthpn 0,100 -- 0,003 -- 2
wyn RYnw ubiphu (tnpdwnppdp
bpdwé E wnwig
onh pntiwyht
wnnipywdnipyuili)
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wgbtinwinthhn - 0,200 4 0,010 -- 3
dbphiuwhpun 0,200 -- 2 0,500 -- 3
ghuy (zn) 1,000 - 3 — ~ -
1.6.10 fGwnwupwunLR Eehlwgbinwn 0,100 -- 2 0,100 -- 4
(gbgnLnqu) $npdwinthphn 0,100 -- 2 0,003 -- 2

(tnpdunppdp

bpdwé E wnwig
onh pntiwyht
wnnipywdnipiuibi)

pbkiugn| - 0,010 2 0,100 -- 2
wgbinnu 0,100 -- 3 0,350 -- 4
1.6.11. bpbppwnwupwhu Erehlwgbunwn 0,100 -- 2 0,100 -- 4
wwuwndwuubp (fnpnjubn) $npdwinbhpn 0,100 -- 2 0,003 -- 2

(tnpdunppdp

bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
wgbtinwinthhn - 0,200 4 0,010 -- 3
Uwhpuntip

dbphiuwhpun 0,200 -- 2 0,500 -- 3
hgnpnuwnp; 0,500 -- 2 0,100 -- 4
wgbinnu 0,100 -- 3 0,350 -- 4
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1.6.12 Unjwqbu $npdwinthpn 0,100 -- 2 0,003 -- 2
(YUuwwnhdbn) (pninp ipluwlp (tnpduwnppdp
wphbuypwlywt bpdwé b wnwig
uughipuilyniguy hl onh pntiwyht
unwbpttnh hwdwn wnynipywidnipiuibi)
wnthhntitiph
qnidwipught puwtiwlyp
(wyn pdnut
$npdwinbhpnp) UreL
0.8 dg/)
wgbtinwinthhn - 0,200 4 0,010 -- 3
Eehiwgtitnwin 0,100 -- 2 0,100 -- 4
pnunpjugbunwn - 0,100 4 0,100 -- 4
wgbinnu 0,100 -- 0,350 -- 4
Uwhpuntip
dbiehy 0,200 - 2 0,500 - 3
wpnwh| 0,100 -- 4 0,300 -- 3
hanwnnwh 0,100 -- 4 0,600 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
hgnpntwnp; 0,500 -- 2 0,100 -- 4
2. Mwpwdhuubp bW dEnpwdnd
2.1. Mwpwdhuubp L htipuwu 0,100 -- 4 -- -- --
dbnpuwdnd hGwwnwu 0,100 -- 4 -- -- --
puq(w)whptiu sh enylwnpynud 1 sh enyjwwnpynud
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wgbtinwinthhn - 0,200 4 0,010 --
$npdwinthpn 0,100 -- 2 0,003 --

(tnpduwnppdp

bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
wgbinnu 0,100 -- 3 0,350 --
Uwhpuntip
dbeht 0,200 -- 2 0,500 --
pnunp| 0,500 -- 2 0,100 --
wnn[nLng -- 0,500 4 0,600 -
3. anine, unjwpwpentn, Jwqwnwp, Gupwdwgwnwe

3.1 (enunpe Eehlwgbinwn 0,100 -- 2 0,100 --
$npdwinthpn 0,100 -- 2 0,003 --

(tnpdunppdp

bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)
wgbtinwinthhn - 0,200 4 0,010 --
wgbinnu 0,100 -- 3 0,350 --
Uwhpuntip

dbeht 0,200 -- 2 0,500 --
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pnunp| 0,500 -- 2 0,100 -- 3
wnn[nLng -- 0,500 4 0,600 - 3
pbkiugn| - 0,010 2 0,100 -- 2
Ywwwp (Pb) 0,030 -- 2 -- -- --
ghuy (zn) 1,000 -- 3 -- -- --
wpubu (As) 0,050 2
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 -- -- --
ppnd (Cr 6+) -- 3 -- -- --
3.2. feninp htipuwu 0,100 -- 4 -- -- --
wuwnwdhuwgyws, hGwwnwu 0,100 -- 4 -- -- --
lr;?f;fgizrﬁhh::;ﬁn puq(w)whptiu sh enyjwwnnynud
nnnotil
3.3. Unjwpwpntne Eehiwgtitnwin 0,100 -- 2 0,100 -- 4
$npdwinthpn 0,100 -- 2 0,003 -- 2
(tnpdunppdp
bpdwé £ wnwig
onh pntiwyht
wnynipywidnipiuibi)
wgbtinwinthhn - 0,200 4 0,010 -- 3
pnunpjugbunwin - 0,100 4 0,100 -- 4
wgbinnu 0,100 -- 3 0,350 -- 4
Uwhpuntip
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dbiehy 0,200 - 2 0,500 - 3
hanwnnwh 0,100 -- 4 0,600 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
hgnpnuwnp; 0,500 -- 2 0,100 -- 4
wnn[nLng -- 0,500 4 0,600 - 3
pbkiugn| - 0,010 2 0,100 -- 2
pupniubp - 0,050 3 0,200 -- 3
(hqndbiputiph
fuwnunipn)
Ywwwp (Pb) 0,030 -- 2 -- -- --
ghuy (zn) 1,000 - 3 — ~ -
wpubu (As) 0,050 2
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 -- -- --
ppnd (Cr 6+) - 3 - - -
3.4. Unjwpwpentne wnhwnwl (Ti) 0,100 -- 3 -- -- --
Ywyhbwuwwn [pwgnighs wynwihupnud (Al) 0,500 - 2 - - -
wbiinp £ npnobg pwphnu (Ba) 0,100 - 2 - - -
3.5. Unjwpwpentne pninhjwgbnwn - 0,100 4 0,100 -- 4
dwynyuwwnnipugh hwdwn Erehjwgbunwn 0,100 -- 2 0,100 -- 4
(oruyop L uypuipuipnuyap, wgtnwnbhhn - 0,200 4 0,010 - 3
dwlynywipnipuwr wwpnitwlynn
Luwipnn Gt oqywugnndyng 15 Uwhpuntip
%-hg ns pundn funbiwnisinit dbieh| 0,200 -- 2 0,500 -- 3
miibignn utitinuwijebinph pnuny 0,500 - 2 0,100 - 3
thuiplpwdnpdwt huduwi) wghbitnnu 0,100 - 3 0,350 - 4
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$npdwinthpn 0,100 -- 2 0,003 -- 2

(tnpdunphip

bpdwé E wnwig
onh pntiwyht
wnnipywidnipyuili)

wnn[nLng -- 0,500 0,600 - 3
pbkiugn| -- 0,010 0,100 - 2
pupniubp - 0,050 0,200 -- 3

(hqndbiputiph
fuwnunipn)

Ywwwp (Pb) 0,030 -- 2 - - -
ghuy (zn) 1,000 -- 3 - - -
wpubu (As) 0,050 -- 2 - - -

ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -
Ywndhnud (Cd) 0,001 -- 2 - - -
pwnphntd (Ba) 0,100 -- 2 - - -
3.6. Unjwpuwypentne quinn Eehiwgtitnwin 0,100 -- 2 0,100 -- 4
wgbtinwinthhn - 0,200 4 0,010 -- 3
dbiphl uwhpwn 0,200 -- 2 0,500 -- 3
wgbinnu 0,100 -- 3 0,350 -- 4
$npdwinthpn 0,100 -- 2 0,003 -- 2

(tnpduwnppdp

bpdwé £ wnwig
onh pntiwyht
wnynipywidnipiuibi)
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Ywwwp (Pb) 0,030 -- 2 - - -
ghuy (zn) 1,000 -- 3 -- - -
wpubu (As) 0,050 - 2 - - -

ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

3.7. ywnihwdphnkwhpinp- E-yuwpniwlyunwd 0,500 - 4 0,060 - 3

hhnphuwght fubidtinh phiun| 0,050 - 4 0,003 - 2

wnlwigiud Ewhpinphpnphu 0,100 -- 2 0,200 -- 2

3.8. dwup nhuwbpuwjhu wpnupupntd (Al) 0,500 -- 2 - - -
wpnupupnidh
wybjwgdwdp

3.9. bpywwindhwnp wpnupupnd (Al) 0,500 - 2 - - -

wiiwgduwidp uh(hghnud (Si) - 10,000 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

Ywwwp (Pb) 0,030 -- 2 - - -

dwuquwt (Mn) 0,100 -- 3 - - -

pGphihnw (Be) 0,0002 -- 1 - - -
inhwnwu (Ti) 0,100 -- 3 - - -
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3.10. Uwgquwnuwpe

pniuwlwu

Eehiwgbitnwin 0,100 -- 2 0,100 - 4
$npdwinthpn 0,100 -- 2 0,003 -- 2
(tnpdunppdp
bpdwé E wnwig
onh pntiwyht
wnynipywdnipiuibi)
Uwhpuntip
dbph| 0,200 - 2 0,500 - 3
wpnwh| 0,100 - 4 0,300 - 3
hgnwnnwh 0,100 -- 4 0,600 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
hanpnuwnhy 0,500 - 2 0,100 - 4
wgbinnu 0,100 - 3 0,350 - 4
Ywwwp (Pb) 0,030 -- 2 - - -
ghuy (zn) 1,000 - 3 ~ ~ -
wpubu (As) 0,050 -- 2 - - -
wnhud (Cu) 1,000 -- 3 - - -
Bplywpe (Fe) 0,300 -- -- - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -

14 1211




21

3.11. upwdwgwnwe
(pnwwlwu dwqunwph
hwuwnynipniuutipp
udwuwywuwgunn

hwybnudubipny pninge)

Eehlwgbinwn 0,100 -- 2 0,100 -- 4
$npdwinthpn 0,100 -- 2 0,003 -- 2
(tnpduwnppdp
bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)

wgbtinwinthhn - 0,200 4 0,010 -- 3

E-yuwpniwlunwd 0,500 -- 4 0,060 -- 3

hung 0,050 -- 4 0,003 -- 2

Ewhpinphpnphu 0,100 -- 2 0,200 -- 2

Uwhpuntip

dbeht 0,200 -- 2 0,500 -- 3

wpnwh| 0,100 -- 4 0,300 -- 3

hanwnnwh 0,100 -- 4 0,600 -- 3

pnunp| 0,500 -- 2 0,100 -- 3

hgnpntwnp; 0,500 -- 2 0,100 -- 4

wgbinnu 0,100 -- 3 0,350 -- 4

wnn[nLng -- 0,500 4 0,600 - 3

pbkiugn| - 0,010 2 0,100 -- 2

pupniubp - 0,050 3 0,200 -- 3
(hqndbiputiph

fuwnunipn)
Ywwwp (Pb) 0,030 -- 2 -- -- --
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ghuy (zn) 1,000 -- 3 -- - -
wpubu (As) 0,050 - 2 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
Ywndhnud (Cd) 0,001 -- 2 - - -
inhwnwu (Ti) 0,100 - 3 - - -

(wwwlynt U npwibhg wpywnpwiph, fulbigbgnpdwlwt wpypwnpwiipp, dGhwwwlyng b hwpbwwwlynig wppwnpwiph hwdwnp Yuwwnpp b undhnidh UT6-L-ubpp

4. Uywyh b wpnwnpwup wwwynig

uwhdwbyws G wnyniuwly 3-nwd)

4.1. Uywlw nwpw vutnwdpetinph hwdwn

4.1.1 --wwwyhubp wugnyu pnp (B) 0,500 -- 2 - - -

W Yhuwuwjhiuwy wynwihupnud (Al) 0,500 - 2 - - -

wpubu (As) 0,050 -- 2 - - -

4.1.2 --wwwyhubp Ywuws wpnupupntd (Al) 0,500 -- 2 - - -

ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

wnhud (Cu) 1,000 -- 3 - - -

pnp (B) 0,500 - 2 - - -

4.1.3 --wwwypubip wpnupupnd (Al) 0,500 - 2 - - -
owquwuwlwanyu

dwuquwt (Mn) 0,100 -- 3 - - -

pnp (B) 0,500 - 2 - - -

14 1211




23

4.1.4 --wwwyhubp
pynipbinuwulyw

Yuwwwn (Pb)

(wwwlynt b
npwihg
wipywnpuwiph,
ubgtignpSwljwt
wipywnpuwiph,
SGuwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
Ura-R-tpp
uwhdwbyws b
wnyniuwly 3-nud)

wpnupupntd (Al)

0,500

pnp (B)

0,500

Ywndhnud (Cd)

(wwwlynt b
npwihg
wipywwnpuwiph,
ubgtignpSwljwt
wipywnpuwiph,
SGbwwwlnig b
hwhpibwwwlnig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
Ura-R-ttpp
uwhdwbyws b
wnyniuwly 3-nid)
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4.1.5 - pwgnighs’ pwnhnid (Ba) 0,100 -- 2 - - -
pwphnuwywu
pjynpbnuiyuynt
qUuwhwwndwu dwdwuwy
4.1.6 Lpwynighs” ubiplyuwu
dwdwuwy
4.1.7 -- ipluwgnyu ppnd (Cr 3+) gnwiwn.’ 0,100 - 3 - - -
ppnd (Cr 6+) - 3 - - -
wnhud (Cu) 1,000 -- 3 - - -
4.1.8-- uwnywn gnyu Ynpwiwn (Co) 0,100 -- 2 -- - -
4.1.9 --jwpdhp gnyu wnhud (Cu) 1,000 -- 3 - - -
dwuquwt (Mn) 0,100 -- 3 - - -
4.1.10 --nbinhu qnyu ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
Ywndhnud (Cd) (wwwlynt b - 2 - - -
nnwihg
wipywunpuwiph,
ubgtignpSwljwt
wipywnpuwiph,
SGbwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
UraL-tutinp
uwhdwtiué Gt

wnyniuwly 3-nid)
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pwnphntd (Ba) 0,100 ‘ -- ‘ 2 ‘ - - -
4.2. Upnwnpwup wwwynig nblynpwinhy dwdynypeny

4.2.1 --inpwnwuny, ihwnwu (Ti) 0,100 -- 3 - - -

nhwnwuh upwnphnny, wynuipupnd (Al) 0,500 - 2 - - -

wnhwnwuh tplopuhnny pnp (B) 0,500 -- 2 - - -

4.2.2--ghpynupnwdndy, wpnupupntd (Al) 0,500 -- 2 - - -

ghpynupnuwih Uhwnpphnny, pnp (B) 0,500 -- 2 -- - -
ghpynuhnudh iplopupnny

4.2.3--ppndny ppnd (Cr 3+) gnwiwn.’ 0,100 - 3 - - -

ppnd (Cr 6+) - 3 - - -

upthghnid (Si) - 10,000 2 ~ ~ ~

wynwihupnid (Al) 0,500 -- 2 - - -

pnp (B) 0,500 -- 2 - - -

(wwwlynt U npwihg wpywnpwiph, fulbigbgnpdwlwt wpypwnpwiipp, dGhwwwlyng b hwpbwwwlynig wppwnpwiph hwdwp Yuwwnpp b undhnidh Uf6-L-ubpp

5. lutigbgnpdwlwu wpwnwnpwup

uwhdwbws G wnyniuwly 3-nwd)

5.1. luligbignpdwlwu
wpunwnpwup

pnp (B) 0,500 -- 2 - - -
ghuy (zn) 1,000 - 3 - — -
inhwnwu (Ti) 0,100 - 3 - - -
wynwihupnid (Al) 0,500 -- 2 - - -
Ywndhnud (Cd) (wwwlynt b - 2 - - -
npwihg

wipywunpuwiph,

ubgtignpSwljwt

wipywnpuwiph,

SGtwwwlnig b

hwhpibwwwlynig
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winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
Ura-R-tpp
uwhdwbyws b
wnyniuwly 3-nid)

pwnphntd (Ba)

0,100

5.2 --yuwwwpuwyhu
suwnwyubinh
ognwgnnpddwu dwdwuwy

Yuwwuin (Pb)

(wwwlynt b
npwihg
wipywnpuwiph,
ubgtignpSwljwt
wipywunpuwiph,
SGtwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
Ura-R-ttpp
uwhdwbyws b
wnyniuwly 3-nid)

5.3-- Ywndhnud (Cd) (wwwlynt b -- -- -- --
ubilEuwlwndhnuwywu nnwbhg
suwpwlubiph wipywunpuwiph,
ognwgnnpddwu dwdwuwy futigbgnpdwlyw
wpywnputph,
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SGbwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
Ura-R-tpp
uwhdwbyws b
wnyniuwly 3-nid)
5.4 -pwphnuwlywu pwnhnud (Ba) 0,100 -- 2 -- -- --
suwpwlubiph
ognwgnnpddwu dwdwuwy
5.5-- dwuquwt (Mn) 0,100 - 3 - - -
Jupnwowguwuwywuwagnyu
Gpwuqubip b ul gnyu
wwwhnynn
ubpywuynebpph
ognwgnnpddwu dwdwuwy
5.6--4wuws U ule wnhud (Cu) 1,000 -- 3 -- -- --
ubpywuynebpph ppnd (Cr 3+) gnwiwn.’ 0,100 - 3 - - -
ognwgnnpddwu dwdwuwy ppnd (Cr 64) - 3 - - -
5.5.--tipl{uwgnyu Ynpwiwn (Co) 0,100 -- 2 -- -- --
ubpywuynebpph
ognwgnnpddwu dwdwuwy
5.6--ntinhu ubipywyynyetiph Ywnuhnu (Cd) (wuwywlym b -- 2 -- -- --
ognwgnnpddwu dwdwuwy nnwbhg
wpywwnpuwiph,
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ubgtignpSwljwt
wipywnpuwiph,
SGuwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
UraL-tutinp
uwhdwbyws b
wnyniuwly 3-nud)

ppnd (Cr 3+)

ppnd (Cr 6+)

gnuwwp.” 0,100 -- 3

- 3

(wuwywynt U npwitihg wpypwnpuwiph, fubigignpéwlwt wpywnpwtiph, d6thwwwlymg U hwpibwwwlnig wppuwnpuwiph hwdwn uwwpp U Yundhndp Ufe-L-tlinp

6. Upunwnpwup dEutwwwynig b hwiubwwwlynig

uwhdwbws G wnyniuwly 3-nwd)

6.1. Upnwnpwup
thuwwwyng b
hwjutwwwynig

Gupwouwpwywjhu
quipnwtlupny

Yuwuin (Pb)

(wwwlynt b -- 2
npwihg
wipywwnpuwiph,
ubgtignpSwljwt
wipywwnpuwiph,
SGbwwwlnig b
hwhpibwwwlnig
wipywnpuwbiph
hwdwp
Yunyuwiph b
ywndpnidp
UraL-tutinp
uwhdwbyws b
wnyniuwly 3-nid)
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Ywndhnud (Cd) (wwwlynt b - 2 - - -
npwihg
wipywwnpuwiph,
ubgtignpSwljwt
wipywnpuwitph,
SGtwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
UraL-tutinp
uwhdwbyws b
wnyniuwly 3-nid)
6.2 2Quugywdh dbg Ynpwywn (Co) 0,100 -- 2 - - -
Unpwpinh opuhnh
wybwgdwt dwdwuwl
Inwgnighs wbinp £ npngbip
6.3 --nsjuwwpwihu wpnupupntd (Al) 0,500 - 2 - - -
suwnwlyubpp pnp (B) 0,500 - 2 - - -
ogunwagnnddwu dwdwuwy ghuy (zn) 1,000 - 3 - - -
(hrehntd (Li) - 0,030 2 - - -
6.4 --pwphnuWwywu pwphntd (Ba) 0,100 -- 2 -- - -
suwnwyubiph wpnwihupnd (Al) 0,500 -- 2 -- - -
ognwgnnpddwu dwdwuwy pnp (B) 0,500 -- 2 - - -

6.5 Lbpyywsd ouwpwlyubph
ognwgnnpddwu dwdwuwy
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6.6 --qwpnwagnyu dwuquwt (Mn) 0,100 -- - - -
6.7 --GpYuwgnyu Ynpwjwn (Co) 0,100 -- - - -
wnhué (Cu) 1,000 -- - - -

6.8 --nbinhu

ppnd (Cr 3+)

ppnd (Cr 6+)

gnwiwn.’ 0,100

Ywndhnud (Cd)

(wwwlynt b
npwihg
wipywwnpuwiph,
ubgtignpSwljwt
wipywwnpuwiph,
SGbwwwlnig b
hwhpibwwwlynig
winywnpuwbiph
hwdwp
Yunywiph b
ywndpnidp
UraL-tutinp
uwhdwbyws b
wnyniuwly 3-nid)

Nl Wl W W| N[ W

6.9. Upwnwnpwup

Lpwgnighg hulynn

SEUwwwyng b gnigwuhoubipp
hwhuibwwwlynig npnaynid Gu ubpybph
suwpwyuwh pnwnpniRjwdp
quipnwuyuwpny
7. Mnnujwwnjw Edwjwuwwunywsd uwwup

7.1. Mnnuwunjw wynwihupnid (Al) 0,500 -- 2 -- -- --

Fdwjwwwwunywsd uwwup,
B 0,500 - 2 - - -

unwgywd upihyuwnwhu P (B) ’
bdwubiph ($tipphwnutiph) tinyuwre (Fe) 0,300 - - - - -

oguwgnnddwip Ynpwjwn (Co) 0,100 -- 2 -- -- --
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uhyby (Ni) 0,100 -- 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
dwuquwu (Mn) 0,100 -- 3 - - -
7.2. Mnnuwunjw wpnudpupnd (Al) 0,500 - 2 - - -
Fdwjwwwwndwd uywup, pnp (B) 0,500 - 2 - - -
uinwgywd npnwuwhu tpywpe (Fe) 0,300 -- - - - -
Edwubiph ogunwgnpédwdp Ynpwitn (Co) 0,100 - 2 — - —
uhyby (Ni) 0,100 -- 3 - - -
Ywwwp (Pb) 0,030 -- 2 - - -
wpubu (As) 0,050 -- 2 - - -
ghuy (zn) 1,000 -- 3 - - -
inhwnwu (Ti) 0,100 -- 3 - - -
8. Uywup hwlwhuwudywdwihu dwélnyeny
8.1. Uwwup $unnp-hnu 0,500 -- 2 -- - -
hwlwfuwudqwdwjhu (gnuiwnwyht)

Sdwdlynyeny wgbinwintihhn - 0,200 4 0,010 -- 3

dunpnuywunh hpdpny Uwhpuntip
dbeht 0,200 -- 2 0,500 -- 3
wnnwhy 0,100 -- 4 0,300 -- 3
hanwnnwh 0,100 -- 4 0,600 -- 3
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pnunp| 0,500 -- 2 0,100 -- 3
hgnpnuwnp; 0,500 -- 2 0,100 -- 4
pupniubp - 0,050 3 0,200 -- 3
(hqndbiputiph
fuwnunipn)
Cwlwhuwusdywdwihu dwdynype
8.2 --qnp2 gqnyup ihwnwu (Ti) 0,100 -- 3 -- -- --
8.3 --jwuwnyp gnyup Ynpwiwn (Co) 0,100 -- 2 -- -- --
8.4--ywqwuwlwagnyu Bplywpe (Fe) 0,300 -- -- -- -- --
8.5 --jwuws gniup ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 -- -- --
ppnd (Cr 6+) - 3 - - -
-8.6-Jwnnwagnyu dwuquwu (Mn) 0,100 -- 3 -- -- --
8.7 Udtuwdhuwyhtu U phy Bplywpe (Fe) 0,300 -- -- -- -- --
Ynyywsd wnnuwwwnh Yypw dwugwu (Mn) 0,100 - 3 - - -
odwdlynyph qbnbndwu
dwdwuwy
8.8 Uynuwihupnwih b wynwihupnid (Al) 0,500 -- 2 -- -- --
wpniuhnuWwhtu anywdph wnhué (Cu) 1,000 -- 3 -- -- --
Ypw gbnndwu dwdwuwy
9. Lwpwwwwnywsd wwhwdnjugdwu tnwpw
9.1. Ewoph$tunjwyhu Ewhpinphhnphu 0,100 - 2 0,200 - 2
(wpbpny jwpwwwwnywd $npdwinthpn 0,100 -- 2 0,003 -- 2
mnwinw (tnpdunppdp
bpdwé E wnwig
onh pntiwyht
wnnipywidnipyuili)
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bung 0,050 -- 4 0,003 -- 2
ghuy (zn) 1,000 -- 3 - - -
Ywwwp (Pb) 0,030 -- 2 - - -
pupniubp - 0,050 3 0,200 -- 3
(hqndbiputiph
fuwnunipn)
Uwhpuntip
dbeht 0,200 -- 2 0,500 -- 3
wpnwh| 0,100 -- 4 0,300 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
hgnpnuwnp; 0,500 -- 2 0,100 -- 4
wgbinnu 0,100 -- 3 0,350 -- 4
Eehiptiugng - 0,010 4 0,020 -- --
9.2. dLunjwyninwhu $npdwinthhn 0,100 -- 2 0,003 -- 2
lwptipny jwpwwywinywd (tnpduwnppdp
mwpw bpdwé E wnwig
onh pntiwyht
wnnipywidnipyuibi)
bung 0,050 -- 4 0,003 -- 2
Ywwwp (Pb) 0,030 -- 2 -- -- --
9.3. Shuyh dwdnty Ewhpinphpnphu 0,100 -- 2 0,200 -- 2
dwpniuwynn $npdwinthhn 0,100 -- 2 0,003 -- 2
uyhwnwyniguwyniu
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Edwjubpnd wwwnywd (tnpdwphyp
mwpw bpdwé E wnwig
onh pntiwyht
wnynipywidnipiuibi)

ghuy (zn) 1,000 -- 3 -- -- --
Ywwwp (Pb) 0,030 -- 2 -- -- --
9.4. dhuhjopqwuunjwjhu $npdwinthpn 0,100 -- 2 0,003 -- 2

swoynypeny ywwnywd (tnpdwphyp

mwpw bpdwé £ wnwig
onh pntiwyht
wnynipywdnipiuibi)
wgbtinwinthhn - 0,200 4 0,010 -- 3
bung 0,050 -- 4 0,003 -- 2
wgbinnu 0,100 -- 3 0,350 -- 4
yhuhjugbunwwun - 0,200 2 0,150 -- 3
yhuh| pinpwywiu 0,010 -- 2 0,010 -- 1
Uwhpuntip
dbeht 0,200 -- 2 0,500 -- 3
hanwnnwh 0,100 -- 4 0,600 -- 3
pnunp| 0,500 -- 2 0,100 -- 3
hgnpntwnp; 0,500 -- 2 0,100 -- 4
puhinjubip (hgndtipubiph - 0,050 3 0,200 -- 3
fuwnuntpn)
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Ywwwp (Pb) 0,030 -- 2 - - -
Lpwgnighg whiwnp £ npnby
9.5 --wynwihupnudh wpnudpupnd (Al) 0,500 -- 2 - - -
thnghny jwph
gnLuwynipwgdwu
dwdwuwy
9.6 Uynuwihupnuipg, wpnwihupnid (Al) 0,500 - 2 - - -
wpndpupnidh &nyywéphg
wmwpwih ywwnpwuwndwu
dwdwuwy
10. Rwnn nsopqwuwlwu uynyabp

10.1. Yhgbgniptip uhfhghntd (Si) - 10,000 2 - - -

wynwihupnid (Al) 0,500 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

inhwnwu (Ti) 0,100 -- 3 - - -

10.2. Mbnghwnubp uhfhghntd (Si) - 10,000 2 - - -

wynwihupnid (Al) 0,500 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

ihwnwu (Ti) 0,100 -- 3 - - -

Ywwwp (Pb) 0,030 -- 2 - - -

ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

wpubu (As) 0,050 - 2 - - -
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Ywndhnud (Cd) 0,001 -- 2 - - -
dwuquwt (Mn) 0,100 -- 3 - - -
11. Utiinwnubn, dnywdpubin
11.1. fonwy Gplywpe (Fe) 0,300 -- -- - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
uhyby (Ni) 0,100 -- 3 -- - -
wnhud (Cu) 1,000 -- 3 - - -
11.2. Mnnwuwwn Gplywpe (Fe) 0,300 -- -- - - -
wdtuwshuwihu dwugwl (Mn) 0,100 - 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
uhyby (Ni) 0,100 -- 3 -- - -
wnhud (Cu) 1,000 -- 3 - - -
11.3. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
gwdpnpwywynpywsd dwugwu (Mn) 0,100 -- 3 -- -- -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
uhyby (Ni) 0,100 -- 3 -- - -
wnhud (Cu) 1,000 -- 3 - - -
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11.4. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
wotuwdhuwyht npwilyjwy dwuquwt (Mn) 0,100 -- 3 - - -
ppnd (Cr 3+) gnuwwp.” 0,100 -- 3 -- - -

ppnd (Cr 6+) - 3 - - -

11.5. Mnnwwn Gpywpe (Fe) 0,300 -- -- - - -
ppndwgyuwd dwuquwu (Mn) 0,100 -- 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

11.6. Mnnwwwn Gpywpe (Fe) 0,300 -- -- - - -
ppndwupihghnidwywu dwugwu (Mn) 0,100 -- 3 -- -- -
ppnd (Cr 3+) gnuwwp.” 0,100 -- 3 -- - -

ppnd (Cr 6+) - 3 - - -

uhfhghntd (Si) - 10,000 2 - - -

11.7. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
ppndwywuwnhnwwlywu dwugwu (Mn) 0,100 -- 3 -- -- -
ppnd (Cr 3+) gnuwwp.” 0,100 -- 3 -- - -

ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

wnhud (Cu) 1,000 -- 3 - - -
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11.8. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
ppnduhybijwhu dwuquwt (Mn) 0,100 - 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

11.9. Mnnwwwn Gpywpe (Fe) 0,300 -- -- - - -
ppnddwugquuwghu dwugwu (Mn) 0,100 - 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

11.10. Mnnwwn Gplywpe (Fe) 0,300 -- -- - - -
ppnddwuguiw- dwuquwt (Mn) 0,100 - 3 - - -
inhuinwuwyhu ppnd (Cr 3+) gnwwp.’ 0,100 - 3 - - -
ppnd (Cr 6+) - 3 - - -

inhwnwu (Ti) 0,100 - 3 - - -

11.11. Mnnwwiwn Gplywpe (Fe) 0,300 -- -- - - -
uhihghniddwugqwuwhtu b dwugwu (Mn) 0,100 -- 3 - - -
pnnduhihghnud- ppnd (Cr 3+) gnwiwn.’ 0,100 - 3 - - _
dwugqwuwjhu ppnd (Cr 6+) - 3 - - -
upthghnid (Si) - 10,000 2 ~ ~ ~

11.12. Mnnwwin Gpywpe (Fe) 0,300 -- -- - - -
ppnddnjhpnbuwhu dwugwu (Mn) 0,100 - 3 - - -
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ppnd (Cr 3+) gnuwwp.” 0,100 -- 3 -- - -

ppnd (Cr 6+) - 3 - - -

dnihpnbu (Mo) 0,250 -- 2 - - -

11.13. Mnnujwwn BpYwre (Fe) 0,300 -- -- -- - -
pnnduplybynibpwdwht b Jwiuguiu (Mn) 0,100 - 3 - - -
pnnuupbdnihpRbluhl ppnd (Cr 3+) gnuwwp.” 0,100 -- 3 -- - -
ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 - - -

Ynidpwd (W) 0,050 -- 2 - - -

dnihpnbu (Mo) 0,250 -- 2 - - -

11.14. Mnnwwn BpYwre (Fe) 0,300 -- -- -- - -
pnnddnihpnbu- Jwiuguiu (Mn) 0,100 - 3 - — ~
wynuhbpnuught b ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppndwynwihuphnidwihu oo (Cr 69 - 2 — — ~
wynwihupnid (Al) 0,500 -- 2 - - -

dnihpnbu (Mo) 0,250 -- 2 - - -

11.15. Mnnujwwn BpYwre (Fe) 0,300 -- -- -- - -
ppnduhlbjw- Jwugquwt (Mn) 0,100 - 3 - - -
Unippudquibwnpnuuwhl ppnd (Cr 3+) gnuwwp.” 0,100 -- 3 -- - -
ppnd (Cr 6+) - 3 - - -
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uhyby (Ni) 0,100 -- 3 -- - -

Ynidpwd (W) 0,050 -- 2 - - -

quuwnhnu (V) 0,100 -- 3 - - -

11.16. Mnnuwwn npwljjuwy Gplywpe (Fe) 0,300 -- -- - - -
nbunpwjhtu quuwuwyuwjhu dwugwu (Mn) 0,100 -- 3 -- -- --
nwpdniywd ppnu (Cr 3+) gnwiwp.’ 0,100 - 3 - - -

ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

11.17. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
dwugwluwjniu b dwugqwt (Mn) 0,100 -- 3 -- -- --
opdwlwyniu ppnd (Cr 3+) gnwwp.’ 0,100 - 3 - - -

ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

11.18. Mnnwwn Gpywpe (Fe) 0,300 -- -- - - -
gwdpnpwywynpywsd dwugwu (Mn) 0,100 -- 3 -- -- -
otipdwlwyniu wtinihnwhu ppnd (Cr 3+) gnwwp.’ 0,100 - 3 - - -
nwuh ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

dnihpnbu (Mo) 0,250 -- 2 - - -

quuwnhnu (V) 0,100 -- 3 - - -

wnhud (Cu) 1,000 -- 3 - - -
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11.19. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
obpdwywyniu dwuquwt (Mn) 0,100 - 3 - - -
dwpwnbuupwnwihtu b ppnd (Cr 3+) gnwwp.’ 0,100 - 3 - - N
dwnunbupuw- ppnd (Cr 6+) - 3 - - -
$pphinwyht nuutiph uht (Ni) 0,100 - 3 — - —
dnihpnbu (Mo) 0,250 -- 2 - - -

quuwnhnu (V) 0,100 -- 3 - - -

Ynidpwd (W) 0,050 -- 2 - - -

11.20. Mnnwwwn Gplywpe (Fe) 0,300 -- -- - - -
obpdwlwjniu winwunbupwn dwugwu (Mn) 0,100 -- 3 -- -- -
nwuh ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

dnihpnbu (Mo) 0,250 -- 2 - - -

Ynidpwd (W) 0,050 -- 2 - - -

uhnphnud (Nb) - 0,010 2 - - -

inhwnwu (Ti) 0,100 -- 3 - - -

11.21. Anuyywdpubip Gplywpe (Fe) 0,300 -- -- - - -
Epywpwupybiwhu hhdpny dwugqwu (Mn) 0,100 -- 3 -- -- --
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -

ppnd (Cr 6+) - 3 - - -
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uhyby (Ni) 0,100 -- 3 - - -

Ynidpwd (W) 0,050 -- 2 - - -

wpnupupntd (Al) 0,500 -- 2 - - -

ihwnwu (Ti) 0,100 -- 3 - - -

11.22. Anyywdpubip uhyb (Ni) 0,100 -- 3 - - -
Uhytiwyhtu hhdpny ppnd (Cr 3+) gnuwwp.’ 0,100 - 3 - - =
ppnd (Cr 6+) - 3 - - -

dnihpnbu (Mo) 0,250 -- 2 - - -

Ynidpwd (W) 0,050 -- 2 - - -

uhnphnud (Nb) - 0,010 2 - - -

ihwnwu (Ti) 0,100 -- 3 - - -

wynwihupnid (Al) 0,500 -- 2 - - -

dwuquwt (Mn) 0,100 -- 3 - - -

11.23. Mnhud wnhud (Cu) 1,000 -- 3 - - -
dwphp (Sh) - 0,050 2 - - -

wpubu (As) 0,050 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

uhyby (Ni) 0,100 -- 3 - - -

Ywwwp (Pb) 0,030 -- 2 - - -
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11.24.Upnyp (wnudh W wnhué (Cu) 1,000 -- 3 - - -
ghuyh hwdwanyywdp) ghuy (Zn) 1,000 -- 3 - - -
hwuwpwy, duwfuwlunynn Bplywpe (Fe) 0,300 -- -- - - -
Ywwwp (Pb) 0,030 -- 2 - - -

11.25 --hwwinty wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 - - -

wpnupupntd (Al) 0,500 -- 2 - - -

wuwg (Sn) -- 2,000 3 - - -

Ywwwp (Pb) 0,030 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

dwuquwt (Mn) 0,100 -- 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

11.26 --&nyqwd wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 - - -

wynwihupnid (Al) 0,500 -- 2 - - -

wlwg (Sn) -- 2,000 3 - - -

Ywwwp (Pb) 0,030 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

dwuquwt (Mn) 0,100 -- 3 - - -

uhfhghntd (Si) - 10,000 2 - - -

14 1211




44

11.27 -Gpypnpnwyhu wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 -- - -

wynwihupnid (Al) 0,500 -- 2 - - -

wuwg (Sn) -- 2,000 3 - - -

Ywwwp (Pb) 0,030 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

dwuquwt (Mn) 0,100 -- 3 - - -

uhfhghntd (Si) - 10,000 2 - - -

uhyby (Ni) 0,100 -- 3 -- - -

11.28. Ppnugbip wuwaquwjhu wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 -- - -

wuwg (Sn) -- 2,000 3 - - -

Ywwwp (Pb) 0,030 -- 2 - - -

uhyby (Ni) 0,100 -- 3 -- - -

11.29 --wnwug wuwgh wnhud (Cu) 1,000 -- 3 - - -
wpnupupntd (Al) 0,500 -- 2 - - -

Bplywpe (Fe) 0,300 -- -- - - -

dwuquwt (Mn) 0,100 -- 3 - - -

uhyby (Ni) 0,100 -- 3 -- - -

Ywwwp (Pb) 0,030 -- 2 - - -

14 1211




45

pGphihnw (Be) 0,0002 -- 1 - - -

12. Mnudwuhybjwihu ényywodpubip
12.1--dbjfuhnp wnhud (Cu) 1,000 -- 3 - - -
dwuquwt (Mn) 0,100 -- 3 - - -
uhyby (Ni) 0,100 -- 3 - - -
Bplywpe (Fe) 0,300 -- -- - - -
12.2 -ubyghpbip wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 - - -
uhyby (Ni) 0,100 -- 3 - - -
12.3--ubjqhiptip wnhud (Cu) 1,000 -- 3 - - -
Ywwwpwyhu uhyb (Ni) 0,100 -- 3 - - -
Ywwwp (Pb) 0,030 -- 2 - - -

13. LhYybjwhu anyqwdpubp

13.1--upyti| upthghnwywu uhyb (Ni) 0,100 -- 3 - - -
uhfhghntd (Si) - 10,000 2 - - -
13.2 --upyt| dwuqwuwjhu uhyb (Ni) 0,100 -- 3 - - -
dwuquwu (Mn) 0,100 -- 3 - - -
13.3 --wynuib uhyb (Ni) 0,100 -- 3 - - -
uhfhghntd (Si) - 10,000 2 - - -
dwuquwu (Mn) 0,100 -- 3 - - -
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wpnudpupntd (Al) 0,500 -- 2 - - -
13.4 --ppnuby uhyb (Ni) 0,100 -- 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
13.5 --dnub) uhlyby (Ni) 0,100 -- 3 -- - -
wnhud (Cu) 1,000 -- 3 - - -
Bplywpe (Fe) 0,300 -- -- - - -
dwuquwt (Mn) 0,100 -- 3 - - -
13.6--uhppnd uhyb (Ni) 0,100 -- 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
Bplwpe (Fe) 0,300 -- -- - - -
ihwnwu (Ti) 0,100 -- 3 - - -
13.7--$bppnupppnd uhyb (Ni) 0,100 -- 3 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
Bplywpe (Fe) 0,300 -- -- - - -
14. 2nnwujnyebin
14.1--wuwquwwwnpwhu wuwg (Sn) - 2,000 3 -- - -
Ywwwp (Pb) 0,030 -- 2 - - -
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14.2--yuwwpwpdwpwihu Ywwwp (Pb) 0,030 -- 2 - - -
Ywndhnud (Cd) 0,001 -- 2 - - -
wpowpe (Ag) -- 0,050 2 - - -
14.3. 8huy b npw ghuy (Zn) 1,000 -- 3 - - -
anyywdpubpp Ywwwp (Pb) 0,030 -- 2 - - -
Bplywpe (Fe) 0,300 -- -- - - -
Ywndhnud (Cd) 0,001 -- 2 - - -
wnhud (Cu) 1,000 -- 3 - - -

15. Upynuihuhnwd wnweuwjhu
15.1--hwwnny Jwppniejwu wpnupupntd (Al) 0,500 -- 2 - - -
15.2--pwpd&p dwpnnipjw wpnupupntd (Al) 0,500 -- 2 - - -
Bplywpe (Fe) 0,300 -- -- - - -
uhfhghntd (Si) - 10,000 2 - - -
wnhud (Cu) 1,000 -- 3 - - -
15.3--inbfuuhjuywu wpnupupntd (Al) 0,500 -- 2 - - -
dwppnipjwu wynihupnid (Al) 0,500 - 2 - -- -
Bplywpe (Fe) 0,300 -- -- - - -
uhfhghntd (Si) - 10,000 2 - - -
wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 -- - -
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ihwnwu (Ti) 0,100 - 3 - - -
11.31. Upnwihuhnudp anyywdpubip
15.4--6Luwfuwfunynn wpnupupntd (Al) 0,500 -- 2 - - -
dwuquwt (Mn) 0,100 -- 3 - - -
Bplywpe (Fe) 0,300 -- -- - - -
wnhud (Cu) 1,000 -- 3 - - -
ghuy (zn) 1,000 -- 3 -- - -
ihwnwu (Ti) 0,100 -- 3 - - -
quuwnhnu (V) 0,100 -- 3 - - -
15.5--6nYnn wpnupupntd (Al) 0,500 - 2 - - -
wnhud (Cu) 1,000 -- 3 - - -
uhfhghntd (Si) -- 10,000 2 - - -
dwuquwt (Mn) 0,100 -- 3 - - -
ghuy (zn) 1,000 -- 3 -- - -
inhwnwu (Ti) 0,100 -- 3 - - -
15.6. Shwnwu wnhwnwl (Ti) 0,100 -- 3 - - -
nbfutplulwl EpYwre (Fe) 0,300 - - - - -
uhfhghntd (Si) -- 10,000 2 - - -
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15.7. Shwnwuh &nyywdpubip

ihwnwu (Ti) 0,100 - 3 - - -
wynwihupnid (Al) 0,500 -- 2 - - -
ppnd (Cr 3+) gnwiwn.’ 0,100 -- 3 - - -
ppnd (Cr 6+) - 3 - - -
dnihpnbu (Mo) 0,250 -- 2 - - -
dwuquwt (Mn) 0,100 -- 3 - - -
quuwnhnu (V) 0,100 -- 3 - - -
Bplywpe (Fe) 0,300 -- -- - - -
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Unynwiwly N 3

<hGhLhY LNNrUUShYLEN

UuLHuUretNLeh L6S cedn umuynhsg 4 umu4du ursutruuLhs,
huE8ESNNrou4UL UNPSUHULLhS, stLUuMUY3U 64 <UlvnuMU43U
ursutruLLhs uLusyn wunurh 64 syurwhnhuh

Uwwuph nbuwyp Lulynn gnigwiuhoubipp Quithdw Ufra-L
dpwynpp

Swithwy Ywndhnwd dg/ng® 0,07
Yuwwp dg/nu® 0,8

Pnpp funpp Ywndphnd mr/n 0,5
Yuiwwip mr/n 2,0

Ut funpp Ywnudhnud mr/n 0,25
Juwwp Mr/n 1,0

Uts, wwhdwu hwdwp Ywnudhnud mr/n 0,25
Juwwp Mmr/n 0,5

Pwdwlubp Ywndphnd mr/n 0,05
Yuwwip mr/n 0,5

Utunwdetipph otipdwjhu Ywndphnd mr/n 0,05

Ytpwdowydwu hwdwn

Juwwp Mr/n 0,5
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Unynwiwy N 4

23U3nNrncuuL 8NhsuuhoueMt

2ru3hL <ULNhYyuLeNP' 15%-h3 PUNAN vNLUYNR(ESNRL NRLESNT ULLHUUSENLh
<ES cPUUL <UUUM LuhuuStU4Uo L3NhfatNh 64 UNPSUHULLh LESUR2NSNh(3-8UL

dguuutuy
<ulynn gnigwuhoubipp Unpdwuwnhyp
<nun (pwyitin) 1-hg ng witihu
<wd 2h pnywwnpynud
MnunpniejnLu 2h pnywwnpynud
Luwndwdp 2h pnywwnpynud
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Unynwiwly N 5

23U3nNrncuuL 8NhsuvhoueMt

2NuU3hL <ULNhYLENP 15%-h3 N2 FUNAN lunbUdNia3NhL NRLESN ULLHIUTSENLh
<6S cPUUL <UUUM LUUSEUYUD L3NhfatMh 64 UNSUHULLh <6SU2NSNhE3UL

duuuuuy
<ulynn gnigwuhoubipp Unpdwuwnhyp
<nun (pwyitin) 1-hg ng witihu
<wd 2h pnywwnpynud
Snyu 2h pnywwnpynud




